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Mesh topology, Star topology, Bus

What are the responsibilities of the Data link layer

and Network layer in the OSI
unguided) transmission

model ?

What is Wireless (

\/ media ? What are the three major types of
Wireless transmission media, describe each in

detail.

(b) What are the differences between a Circuit-
switched network and a Packet-switched

network ?
4 ,/(’a')’” What are the differences between Internet and

r/ Intranet ?

(b) Describe Dial-up, Leased line, and VSAT

techniques.

y (@)  What is Boolean algebra ? Describe the basic

rules and theorems.

(b) How K-Map Is used to minimize a Boolean

algebra ’? Describe with an example.

6. (@)  What does Array name signify ? How are Single

~and Double dimensioned Arrays initialized ?
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Note : Candidates are réQuired to give their answers in their

own words as far as practicable. Attempt any five

j questions in all. All the questions are of equal value.

Question No. 1 is compulsory.

\J/ Write short notes on the following terms_l keywords :
(a) Circular Queue |
(b) Doubly Linked List o

Threaded BinaryTreé 15

4008-4/1500 - (1) .
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(R What do you mean by Fﬁerfrjrmanceanelysis .?
. el | 2
What are the-criteria for.Judglng a program /%

y of number denoted

(b) Suppose you have an arra
! we procedure to

by num[ ] Write the. recurs

fmd the sum of 1000 elements
Mhat IS a Clrcular Ilst ? Write an algonthm for--
s Insertmg a node at the front- of circular list.

C}M leferenttate between a linked list: and an array.
' Whatare the dlsadvantages of alinkedlist? - - 1]

..

2t ‘_@ What s a Brnary tree ? Wnte down dlfferent

il

‘s S e A
[ W g

propertles of a bmary tree
(b) ' Write down”-theiteretive 'elgorithm for in-order-
A --traversal of a blnary tree What will be the
| i performance analysas of the algonthm ?-
\5//%4 f“_'_';Wnte the algonthm of sortmgaset of iumbers in g
| il descendmg order usrng Strarght Selectlon Sort
i Analyze the algonthm . L-d
| -(t:o) Show the stepe of sortlng the follownng sequence
e N ascendlng order using qwck sort method :
; . 25/57,48,37, 12, 92 86, 33 |
© 4008-4/1500 - ( 2 )
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6. (@)  Whatis Hashing ? Give the charactenstlcs of
Hash function. .
(b) . What are the dlfferent methods of handling
overﬂow in hashmg k4
b

\_,(ﬁ)/ What do_you mean by Graph Traversal ?

7 3 Compare and. contrast Depth First Traversal
g (DFS) and Breadth First Tra_versal (BFS).
(b) = Write an a|gar_ithrn_ of noﬁ-recursiwe'DeptH First
.Traversal (DFS)_Qf a graph, i *1
8. (a) - Wrrte the. dlfferent operatlons that can be ;
i performed anastack. Gwe array lmplementatron s ‘\
ofastack AT e e i o rl
(b) - lllustrate MI_h _th.e._:h_e‘Ip' of an example, how an - i}
a_ri’rhrnetic exEress_ioh_ _r:ar; be 'éyaluated'by using {.
G ¢ (o] PRER R S B oM - _\:1
' | — | lL: ¥ aaia ot os L oL 2 6 iy 4w isATY . '_.1 - G2 l
 (a) - WhatisaQueue ? Give linked listimplementation
ofa'queue. i A |
-(b). lnsertthe followmg keys mtoaB-Tree of order3 it '|
10242311 31 16263529204628
- 4008-4/1500 .+ R 3) e e s PTO] S
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- X - »
(b) y — Clc -+ LJEL

(C) y :*L,IL, +L-'?'V
—- X
dzy d)’ 4y = () -
e % — 3 =4y = & AT9H B B

dx” dx

(@ o, c, Rerti ¥

- -4 x
(a) y :.:c]c"" + C»C

- 4 x
by, g e R

4
(). y=ce +6ier

(vii  The singular solution of the Clairaut 's differential
d dy

equation Y =PX+— where Pp= - ,is:
N p P dx

g (4 37 - o
L_ kan - 4%
1404-2/1800 @ !(j @8

(6)

Scanned by TapScanner



(C) y* = 4ax
(@) .  yi=4x
3 R :g_
RRE B S TG Y = PX -+ Tl P =g,
%, o RigeR & &
P
@ < ¥ e
by . ¥y =ax
(c) y* = 4ax
(Qzisesys = dx

(vi)  The solution of differential equation x(x - y)dy +

y‘de =0is (C being constant)

i

1404-2/1800 (1) ~ [PTO.]
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(c) 4x —~ 6y + 87

(d) 4xi — ()yj + 87K
R f=2x>-3y°+ e e n X

HA 2
(@) O
B 3

(¢) 4x-6y+8z
(d)  4xi-—6yj+8zk

(X) An athlete runs 400 meter circular track in 50 sec.
with uniform angular velocity. His/her linear

velocity in m/sec is :

5
e
-
- -
(e)' 710
@) 8
% /% 400 HIET At el 9% B R vl

1404-2/1800 (10 )
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3. ‘ng” ”Z:r(x

(b)

1404-2/1800

EE-&-‘. £

r

_Y_]+ \/x\:I -+ y2 then find value of

X°——=+2Xy gy ——ok. -l . HI. T

Find radius of curvature at any point ( r,@) for

the curve r" =a"sinnb .

qh r' =a sinnd % oo e faﬁ (r,(—)) T
gepal FBear S oy

a0
» -X _:..MM
fF 1= _[0 ¢ “sin” xdx where ;> prove

that (1+m2)Im =m(m—1)Im__2 . Hence
evaluate |, .

(1127)
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by |If l,.,,=jcm"xsinmdx where m 2 2,
n > 2 prove that

(m+n)l,, =cos™ xsinnx +ml, ;.

afx [_._#Ims'xsinnxdx S8l m=2,
nz2 t & foe difte &

(m-l-n)l._, = cos xsinnx+ml_ ;.

RN = A

y2=4- ;.ﬁf =X. |

-

"
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a5 b, ¢ o alw ¥ @ fee b 19

{fl +b.be+ec,Cc+a | .2' a.b.c l

B

Ver . ¢ being the
il

() Prove that gradr™ =mr"
position vector of a point in three dimension:

space.

e #ifve & gradr™ = ™ 7T g% T
A @ & Rl fg a0 Rafar e B
8 If v and W be two vector point functions, then prove the
following :
o A A aRw g s & aa Feidoa B
fa #IPTT
1)/ div(vxw)= w.curl v — v.eurl w
(E)) grad (v.w) = (W.V)V +(V.V JW + W
curl v+ v xcurl w
Section-C
sl
9. /(z)/ Find values of a and b such that the system

of two forces (1, 2, -1) acting at (2, 3, 4) and
(-1, a, 1) acting at (4, 5, b) has zero resuitaint force

and zero resultant moment about X-axis.

( 15 ) 121.0 ]
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a@?b%msﬂwmaﬁﬁﬁﬁﬁﬁﬂﬁr
4) TR HRA (1,2, -1) 84 qd (4, 5, b) T HA

(-1,a, 1) %ﬂﬁéﬂqﬁwﬁﬁaﬁﬁ%@x@?&f
%Hﬁﬂqﬁwrtﬁgﬂ?ﬁ%l

is placed In @ vertical plane

(2,

(b)  Acycloid s =4siny

with its vertex on a horizontal surface. A particle

starts from rest from cusp along the inner smooth

T

surface. When it reaches the position V = ) then

determine its linear-velocity (assumeé g =10 m/

qgae ¥, o9 e 1@ T e (g =10
m/secqu:l%f'g'q)

Two equal uniform rods AB and AC, each of weight w are

freely jointed at A and rest with the extremities B and C

10.

on the inside of a smooth circular hoop, whose radius Is

greater then the length of either rod, the whole being in

1404-2/1800 ¢ 16.)

Scanned by TapScanner




vertical plane and the middle points of the rods being
jointed by a light string . Show that if the string is

stretched, its tension is w (tano —2tanf) where 2o

s the angle between rods and f3 is the angle which either

rod subtends at the centre.

3 THEHM B AB SR AC % &l a9 w Bl & &9
q AT el e B wd F Rex wg & orge i B C
B T R N g1 W @R Ryd ¥ gd @ P
Redt <t B B TR @ 791 B g Een g9 A A
Red ¥ 9 AT B8 3 W g o e 3G A W R
iz 5 ok S & g 9§ @ 3HE T w
(tano —2tanp) | & B 2o B B HA H D E
o§ B a5 POT & S 76 B it 83 gW B WA Mg W
ST B

1404-2/1800 £ 17 ) .
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Reading maketh a full man, conference a ready
man: and writing an exact man. And therefore, if
a man write little, he had need have a great
memory, if he confer little,he had need have a
present wit: and if he read little, he had need have

much cunning, to seem to know, that he doth not.

(b) If satistical records were available on the subject,
however,| doubt whether it would be found that
absent mindedness is common. It is the efficiency
rather than the inefficiency of human memory that

compels my wonder.

OR

Nothing, son,| am doing nothing..... only waiting.....
the old woman said tiredly, as though now she
was holding a metaphorical conversation with her
pet to keep her mind occupied. For, ‘from her
entrails arose a confusion which was like the
panic she had felt at the mad throats bursting
with shouts of ‘Allah ho Akbar!' 'Har har Mahadev"

'Sat SriAkal!' on the night of terror when she had
fled from the lane.

2407-2/2400 (2)
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(¢) The magi,as you know, were wise men -
wonderfully wise men - who brought gifts to the
newborn Christ-child. They were the first to give
Christmas gifts. Being wise, their gifts were
doubtless wise ones. And here | have told you
the story of two children who were not wise. Each
sold the most valuable thing he owned in order to
buy a gift for the other. But let me speak a last
word to the wise of these days: Of all who give
gifts, these two were the most wise. Of all who
give and receive gifts, such as they are the most

wise. Everywhere they are the wise ones. They

are the magi.
OR -

"What a strange way of looking at art, doctor!"
said Sasha, offended, "Why, it is an artistic thing,
look at it! There is so much beadty and elegance
that it fills one's soulrwith a feeling of reverence
and brings a lump into one's throat!- When one
sees anything so beautiful one forgets everything

earthly..... Only look, how much movement, what

an atmosphere, what expression!"

2407-2/2400 (33 [PTO] -
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Different subjects have therapeutical effects on human

mind. Discuss as expressed in "Of Studies". [17]

OR

What are the salient features of gentlemen as pointed

outin the essay "The Definition of a Gentleman".

"The Parrot in the Cage" narrates the trauma of
displacement. Evaluate. [17]

OR

What Is the theme of the story "The Gift of the Magi" by
O' Henry?

OR

Evaluate Animal Farm 3 satire of Stalinism or generally

of totalitarianism. [17]

OR

What are the Major points in the novel Animal Farm?

2407-2/2400 (4)
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AT . QR JUEYd oUW 9= H 8 I9¥ 31 9l g9
AN & FEAER g % IO dv |

1. M ued & | [l dF g9 & I9% SIfoT
[15x3=45]

(®) ‘9B AR AN ITH P FAEE B AER W
I gd HaeTl W fqar iy

(@) A %aﬁf%aﬂwwﬁwqﬁm
CAISIY

(M) T F A RER W e i

(9) T e Thid! 3 SR W R i
7401-2/3000 (1)
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(®) ‘Ww%*aﬂﬁﬁaﬁ%{qﬁaﬂﬁm
Tl

2. Rrfifag omaaeel & § fbeel | bl GuET A

T (10x3=30]

F) e # b - gt L P g

T B S 7X ot B, ge o B @ s
& 2, Bl @ ae-w # e Al R

(@) ¥ @ ¥ Q@ ge ger-RvaR § St o
T STOT ST oSt an ‘on-2 g al, f
drg & R agd gem Al ‘@i geer 9
o ger O S g & Y- A ferdl ¥ -
Waﬁﬁ%wg%rﬁ%ﬁq .0, & TR F
erl|

() a@ﬁ!ﬁmlq@\s%lﬂ?{c‘bﬁwmﬁ%ﬁmﬁ
Y oE X ®© §, ak Aike IW A |
AT -9 &Rt e I, 3o & T, A-EN

(8) ome-aE & o3 @ e aw e e
o g ReefEl & ff 3% W aF I, R
R g % G @ S AR & @i

7401-2/3000 )
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(8) g at A oo a Brg o or € @l
R TAR-gE B giere B HeEd § A, 9K Y,
M & 7 A g% i 7 e Hom | o g -

3. ffofea oot & @ Rt AW met & S &9 |
oA 155 L [5%3=15]

(%) ‘g5Y AR A Iy @ rr ox feweft forfan
(@) ‘A’ @ g Aot 9T feweft s
(M)  ‘fespiiee @t Qfderiendr ov fewelr faRaay
(

(

H) 98E # gEEd & 9)e e
g A dD W I W Hi

4.  =fafga gt ueAt & oTd dird IO g
[1x10=10]

(®) ‘B T B FEE & AGH DA o 7
(@) T AR B A e & A e
(M) ‘Gia F B AH B TAHR B & ? r'
(8) ‘Prom’ hEH AeE & 7

 7401-2/3000 s ) ' (PT.O.]
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